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109£27 5 p kK kHthse® |[£° % [748219 20484 2 p kK o 5 | <0.01 0.33 [84.4 7.8 £
109527 2 f-k-kFHaskiss (4793 (T2 @3 p koK <1 Jo.15] <5 [wp<o.001 | 0.24 | 133 7.8 £
109227 i3 f h-k-kTH#hmes (177 [P Hmidp kK <0 lo.15]<5 [wp<o.001 [ 0.68 | 142 8.0 £
109527 2 fok-kFHskes® [£79 7 [poirsmpmiel0.33-358@ % a k] < Jo.15[<5 [ <o.01 0.68 | 133 8.0 2
109927 f 5 f koK K Fisksd [£¢ 3 [Frrsih g &k <1 [o.15] <5 [wp<o.001 [ 0.69 | 131 7.7 £
109227 2 f kKK Fteshos [£7 3 |22 pHM3p &k <1 0.1 <5 [Np<o.001 [ 0.70 | 153 7.8 £
109227 2 f kK kithohos [£7 3 [SWhamisp ok <1 0.2 [ <5 | <0.01 0.74 | 149 7.5 £
109227 2 f kK- kiteshaos [£7 3 [Eo A midp koK 4 0.2 | <5 [ Np<0.001 [ 0.69 | 185 7.2 £
109527 fi 2 f k- k-kiteshos [£7 3 |20 $- @3 p &k < o5« | <001 0.70 | 131 7.2 £
109527 G5 p kK- kithosss |27 2o $-@2p ok <1 0.2 [ <5 [Np<0.001 [ 0.69 | 141 7.2 £
10937 fi 5 k-k-kFiaskiss 5793 [A R TfEsahk < 5] <s ND 0.77 | 150 7.7 £
109537 M % f R k-kitaokad |47 |2 42706545 p kK < .15« | <o.01 0.78 | 160 6.9 £
109237 2 kK kiteshss [£¢ [t cimALp kk <4 20 <5 T <o.01 0.78 | 142 7.3 £
109537 f 2 fkkFHaskiss [£79 3 [F KT @3p kK a4 ls]<s ND 0.75 | 136 8.0 £
109537 f 2 f kok-kFHashds [£9 3 |20 @b p %ok <4 5] <5 ND 0.75 | 185 7.4 £
109537 i 2 f kK K Fteshs [£9¢ 3 [Buirm%- @2 p kok < Jo.25 (<5 ND 0.76 | 148 7.2 £
109£37 @3 p k-l kFHhsees [£7 3 [yt ®m 5 - @ 2 p 5k a4 lp.os] <5 ND 0.75 | 138 7.2 £
10937 i 2 f kK K Ftashkss [£¢ 3 Byt m sz p kok a4 2o <5 ND 0.76 | 150 7.4 £
109237 i3 f kK- kFHeohes 477 [AAL <2 kpe Tk A Jo.15 (<5 ND 0.77 | 170 7.2 £
109537 f 2 f f-kkFHaskiss [£79 3 |7 fr2 @3 g koK <1 Jo.25]<5 | <o.01 0.82 | 160 7.2 £
1095379 5 p kKK Hthoessd |[£7 3 |5 T3 d el 0w 2 1 0.20 | <5 ND 3.11 | 150 7.6 £
1093 5 5 Rk kTlamkes |4°7 [facdo @Fftp ki ] 0.20 [ <5 | <0.01 3.10 | 30.1 7.5 £
109237 3 h-kkTH#hmes (177 [BI2mr garnfdp ik < Jo.so]<s | <o.01 0.84 | 145 7.0 £
109537 6 5 p kKK Hthsss |[£7 % [hBSAniba &k < Jp.25]<5 ND 9.44 | 130 7.2 £
109537 6 5 p kKK Hthos® |7 % (s 72245 p %ok < Jo.20f<s | <0.01 0.81 | 165 6.9 £
100237 5 p Rk kiTtame® |4° 32t p hk 1 0.20 | <5 ND 5.80 | 55.1 7.2 £
109537 3 p k-k-kFHhob2s L7 [MIamibp ki <4 Jo.30] <5 ND 0.82 | 150 7.5 £
109567 {3 p kK kithses |17 [Fea L2 282 p koK ] 0.25 [ <5 ND 0.40 [ 29.4 6.7 £
109567 3 p kK kst |[£° 3 [Bea v shfi 2 p koK 2 0.30 | <5 ND 0.40 | 41.6 7.3 £
109267 fi2 f Rk kFteohes 479 |- nmigsp kK 4 5] <5 ND 2.17 | 201 7.7 £
109267 i 3 f k-k-kTHemss 1797 [+ 0 21085 3 p koK A Jo.o15 (<5 ND 0.73 | 115 7.1 £
109267 i 3 f k-k-kFiaskss 473 ke d p kok <4 .20 <5 ND 0.79 | 109 6.9 £
10967 fj 3 f k-k-k Tk (177 [T 3awmildp kK <1 J0.30] <5 ND 0.74 | 113 7.1 £
109567 f§ 3 p k-k-kFHhob2s L7 3 [RAr®ibp koK <1 Jo.25] <5 ND 0.77 | 112 8.0 £
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1096 @ % p X '}4%*%&56%‘*% F PR | TEEAER A <7k <1 0.25] <5 ND 0. 80 117 7.9 £
10967 fi % p K-K-REHFEE |27 3 |t "R A M <7k <1 0.20 ] <5 ND 0.76 112 6.9 £
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